Limits Worksheet

Llimx’ = 2x+1=(2) = 2(2)+1=8-4+1=5

> lim x*=2x-3 lm(x—3)(x+1) (x 3) 0-3 —_3 B
=0 X7 +4x+3 =0 (x+3)(x+1) x—>0(x+3) 0+3 3
? 1 1(1+1 2
3. hmﬁz im Hx+ 1) = a+1) = = undefined
=lx?4x—2 =l(x+2)(x=1) (A+2)(1-1) 3-0
-1 -1 1-1 0
4. lim zx = lim (x—1) = Gl = — = undefined
=lxt+x—2 =l (x+2)(x-1) (A-2)(1-1) 0
2
5 fim— 4 =lim(x+2)(x 2) (x 2) 2 2:920
=2yt 4 x—=2 =2 (x+2)(x-1) x—>2(x—1) 2-1 1
2
6. lim—" L gy &HDG=D e e D 14D 2
ol 4 x=2 =l (x+2)(x=1) =1(x+2) 1+2 3
- D(x—1 ) 1+1 2
7. lim 1mw mw T undefined
=1yt —2x4+1 =i(x=1)(x-=1) =x=>1(x-1) 1-1 0
8 lim> -2x+1 (x—l)(x ) A-DA-1) 0-0_
el +3x 42 r—>1(x+2)(x+1) (1+2)1+1) 3-2
2
9. lim 9: m(x+3)(x 3): 1
=2 x+3 -2 (x+3)
2
10. tim X2 4 @I 5 5 ¢
=3 x4+3 =3 (x+3)
1 1 > 140+0
11. limx™"' +1+x=lim—+1+x = lim Txrx 0T = undefined
x—0 x—=0 x x—0 X
12 lim\/; 2 = lim (\/_ 2) = R
T4 y—4 x_>4(\/_+2)(\/— 2) x—>4(\/;+2) \/Z+2 4
3 2
13 1im > 2x 8x: mx(x 4)(x+2)_ Dd——6

2

=2 xT 4+ 2x

x—-2

x(x+2)



3— — —
14, tim . 6x+2 _(3)-6(3)+2 _27-18+2 11
=iyt 42x—3 (3P +23)-3 9+46-3 12

(5+x)-25 (5-57°-25 -25

15. lim =5
x—-5 X -5 -5
2 — —
16. hmx—l_l (x+D(x-1)  1+1 :z
=l +5x° —6x 1 x(x+6)(x— 1) I(1+6) 7
1 1 3—-(3+x)
—1 _ — _ _
17.limM 11mM=1im 33+ x) =lim r ! =—l
x50 X =0 x ¥=0 X =033+ x)x 3(3+0) 9

. 2 _12 _ —_1=1— —
18.1imx” = x +y2x — 1= 1" =1+ 2() - 1 = 1-1+1=1

X+
Iim ——— = lim . = lim =
” oU o x+d od (x4d) (\/x2+9+5) H*‘(x+4)(\/m+5)
: x*-16 (-4 4-4 -8 -4
lim = lim =
Hq(x+4)(\/x2+9+5) Hq(x+4)(\/x2+9+5) =4 +9+5 10 s
lim(—l l]—ﬁm Unh £ 3 TN i [1odies)
0 SO xl+x X =0 1+ x x=0 x\/1+x (1+ 1+x)
) 1-1+x . 1 1 1 1
lim = lim = = S
Hox\/1+x(1+ 1+x) x‘)‘)\/l+x(1+ 1+x) \/1+0(1+ 1+0) 12) 2
21.

I (] W) | e

= lim

- X ( 1+x+ ) 0 (\/E+\/IT)
2

2
lim —=1

HO(\/1+X+\/1_ ) Ji+0+41-0 2

X—>

yy gV =v1-x _1+0-V1-0 _1-1_0_/

Hox/1+x+\/l x N1+0+41-0 1+1 2




23.

24.

25.

26.

ornos . (Yorx=3) (Vorx+3) 940

lim =lim . =lim——m=
=0 x 0 X (\/9+x+3) x‘“’x(\/9+x +3)

) 1 1 1 1

lim = = S

x—)O(\/9+x+3) \/9+0+3 3+3 6

. Nl=—x

lim = undefined

x>l x—1

(\/1+2x—\/1—3x) (\/l+2x+\/1—3x)_

o+ 2x—1-3x
lim =lim .

0 x 0 x (\/1+2x+\/1—3x)_

lim 1+2x—-1+3x lim 5 B 5 _§

Hox(\/1+2x+\/l—3x) x*"(\/1+2x+\/1—3x) J14200) +4/1-3(0) 2
¥ X (\/x2+2x +x) x(\/x2+2x +x)

lim——=1im =lim =

x—0 /x2+2x_x xao(lxz_l_zx_x) (,X2+2X+X) x—0 x2+2x_x2
x2+2x+x) [0+0+0
=0

x—0 2 2

—_




